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FiNaL ExXAaM REVIEW PACKAGE

1. ® Let f(z) = vz and g(z) = z + 1. Find the
composition function (f o g)(x).

(a) (feg)(z)=Vz+1

(b) (fog)(z) = V=
(©) (fog)(z)=vae+1
(d) (fog)(z)=u+2

2. ® Find2 the domain of the rational function
T
y = —_—

(a) (—o0,1)U(1,00) (¢) (—00,6) U (6,00)
(b) (—00,8) U (8,00) (d) (—00,7)U(7,00)

3. ® Complete the square to make the bionomial
22 — 8x a perfect trinomial.

(a) 2% — 4z — 16
(b) 2% —8x + 16

(c) 2 — 8z + 64
(d) 2% — 162 + 16

4. ® Find the slope of the line 2z + 15y = 29.

(a)m:% (c)m:—%
) m= o (@ m="

5. ® Solve the inequality |z + 3| > 10. Express the
solution set in interval notation

(a) (—13,-=7)
(b) (—o0, —13)U(7,00)

(c) (7,13)
(d) (—o0,7) U (13, 00)

6. ® Write the equation of the line that passes
through the point P(3,4) and is perpendicular to
the line y = —4x + 14

) a3, L ) gty 13
a IE—4y 4 C y—4l’ 1
1 1 19

7. ®) Tell whether the graphs of the lines y = 5z + 5
and y = bax — 1 are parallel, perpendicular, or nei-
ther.

(a) Perpendicular

(b) Parallel

(¢) Neither parallel nor perpendicular
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8
8. ®) Solve the inequality — > 2
x

9. ® Simplify (4 + /—16)(4 — v/—9) and express it

in the a + bi form.

(c) 28 — 4i

(a) —4 + 4i
(d) 28 + 4i

(b) —28 + 4

10. ® A printer charges a fixed setup cost, plus $0.40
for every 40 copies. If 320 copies cost $43.20, how
much will it cost to print 1200 copies?

(c) $128

(a) $160
(d) $52

(b) $48.8

11. ® Let f(z) = 322 —2 and g(z) = 4z +4. Find the
value of the function (g o g)(—2).

(a) (gog)(=2)=—11

12. ® Find the real solutions of Va2 + 144 = 2 + 6

=—18

5
13. ® Simplify -7 and express it in the form a + bi
i

(a) —5i (c) 5
(b) =5

14. ®)| Solve the inequality 2z — 15 < —3

(¢) (—o0,6)

(a) (6,00)
() 16, 00)

(b) (=00,6]

15. ® Find the slope of the line passing through the
points P(15,+/7) and Q(v/7,15)

(a)
(b)

=1

m =2
m=1

16. ® Let f(z) =2z — 1 and g(x) = 3z — 2. Find the
domain of the function (f - g)(x)

(a) [0,00) (d) (0,00)
(b) (=00,0)
(¢) (=00,0] (e) (—00,00)

17. ® Select each graph that represents a function

\Ir'
-20
(a)
Y
-20 X
(b)
'irr'
o 20 X
"-..._______.'

. . 2) _3(x+1)
18. ®) Solve the inequality 3 > 1
(a) (7,00) ¢) (=7,00)
(b) [=7,00) (d) [7,00)
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19. ®) Find the graph of the equation 2z 4+ y = 4

20. ® Solve the equation 2logy () = 14 logy(z +112)

(a)
(b)

=-14

4 (c)
8 (d)

r=1
r=1

21. (® Use the quadratic formula to solve the equation

2e(x +7) =5

—74+ 11 —74++/39
@o=—"— | @Qo=—7—
(b) z = _Hz/ﬁ (d) z = _Hl*/@

22. ®) Find the values of z and y from the complex
number x + 767 = y — yi

23.

24.

25.

26.

27.

28.

29.

(a) x =76 and y = 76

(b) x =76 and y = —76

(¢c) o =—76 and y = 76

(d) =-76 and y = —76
® Simplify the expression 37

(a) —i () -1

(b) (d) 1
®) Find the slope of the line 13(y + z) = 13(z — 4)
(a) m=—1 (c) m=17

(b)y m=0 (d) m=1
®) Find the vertex of the parabola y = 7(z—9)?48
(a) (81,8) (e) (9,7)

(b) (9,8) (d) (8,9)

® Find the slope of the line passing through the
pair of points P(—14,6) and Q(11,11)

| =

m=- (c) m
m (d) m=-5

® The ratio of women to men in a mathematics
class is 13 to 4. How many women are in the class
if there are 20 men?

(a) 65 (c) 4

(b) 13 (d) 20

®) Solve the proportion S 2
pProp Mzl

®) Solve the proportion % = j_ 5
(a) 1 = —6 and z9 =4

(b) 1 =6 and 9 = —4

(¢c) 21 =6and o =4

(d) No solutions
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30. ® Simplify (6 — /—49) — (7i —

in the form a + b7

4) and express it

(a) —10 — 144 (c) 10 — 14i

(b) —10 + 14 (d) 10 + 144
31. ® Let f(z) = 2?;128 Find f(5).

(a) 1(5) = 5 (©) £5) =5

) £3)= 21

32. (® Solve the equation z* — 8z2 + 15z = 0 for the
real values of the variable z by factoring.

33. ® Solve the equation 23 — 723 = 0 for the real
variable z by factoring.

=—49 (d) z=-7

(e) z=7

34. ® Find all the real solutions of the equation
Vhr +6=+3x+ 14

35. ® Find the distance between the point P(4, 6) and
Q(6,5)

(a) V12 (c) V17
(b) V8 (d) v5

36. ®) Find the value of z if log,(27) = 3
(a) o =27 (c) = —3
(b) z=3 (d) No solution

37. ® Find the inverse of f(z) =2z +7

T+ 2
7

=T
2
_:):—2

(c) f7H(2) =

38.

39.

40.

41.

42.

43.

44.

® Solve the inequality 14 > r—2 >4
q Yy 3

(a) (—o0,14)U
(b) (14, 44]

[44,00) | (c) (—o0,14] U [44, 00)

(d) (—00,14] U (44, 00)

® Find the equation in general form of the circle
with center at (2,2) and r =9

22+’ —dr—4y—73=0

® Determine whether the lines with the slopes
1
m1 = 10 and mg = 1o € parallel, perpendicular,

or neither.

(a) Perpendicular

(c) Parallel
(b) Neither

®) If @ and h are real numbers and f(x)

=Tz
fla+ ) f(a

)|

Find the difference quotient for

h# 0.

(a) Tz (c) 8
(b) —Tx

®/If f(z) = 11 — 1022. Find f(8).

(a) —652

(c) —629
(b) 617

® Solve the equation 822 — 16z — 120 = 0

(a) z=3 and z =8

(b) x =8 and z = 120
(c)x=—4andz=5
(d) z=-3andz =5

® Given that P varies jointly with r and s. If
P =7 when r =3 and s = 6, find P when r =9
and s = 24.

(a) P=9 (c) P=3
(b) P =24
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45. ® Find the graph of f(z) = |z — 4]

8
46. |®) Solve the equation x

(a) =—-30 and x = —2
2

(b) x=-— and z =2
15

2
= -2 = —
(c) x and x 15

(d) x=2and z =30
47. |®)| Solve the inequality % <2
l‘ —_—

(a) (—o0,5)U[8,00)
(b) (—o0,5]U[8,00)
(c) (5,8

(d) (—OO, 5] U (87 Oo)

(€) (=00,5) U (8,00)

48.

49.

50.

ol.

92.

53.

is one-to-one on the

®)| The function f(z) = 2
domain (0,00). Find f~1(x).

@ F@=y5 | @@ =%
gy 2 = [
W rw=t | @rw=y?

® An account now contains $9300 and has been
accumulating interest at a 10% annual rate, com-
pounded continuously, for 12 years. Find the ini-
tial deposit.

(a) $2,860.11
(b) $2,748.11
(c) $2,833.11

(d) $2,801.11
(e) $2,888.11

et f(r) = 22 +x and g(x) = 22> — 1. Find

® Tell whether the graphs of y = 5z + 4 and
y = bz — 6 are parallel, perpendicular, or neither
(a) Perpendicular

(b) Neither parallel nor perpendicular

(c) Parallel

®) Let f(z) = /z and g(z) = = + 1. Find the
domain of the composition function (f o g)(x)

(a) (0,00) (d) [0,00)
(b) [0,09]
(¢) (=00,0) (€) (=00,0]

® Solve the equation
log(xz — 17) — log(5) = log(z — 8) — log(x)

o

2
2

N DN
g

2 (d) =
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54. ® What is the degree of the polynomial fz) =

-9
(a) 0 (c) 17
(b) (d) 8

(a)
(b)
/2 I Y
UK. R .« (. L4
(c) ' :
-7§.5 : —Z":.S X

56. ®)| Given that m varies jointly with the square of
n and the square root of ¢q. If m = 30 when n =3
and ¢ = 8, find m when n = 15 and g = 32.

(a)
(b)

(¢) m =1,500

m=3
m = 30 (d) m=38

57. ® A farmer wants to partition a rectangular
feed storage area in a corner of his barn. The

58.

99.

60.

61.

62.

barn walls form two sides of the stall, and the
farmer has 58 feet of partition for the remain-
ing two sides. If a = 58 in the picture below

|
1
L

H 5

| 7 9 o e
Z
|

What dimensions will maximize the area of the
partition?

(a) 14.5ft by 43.5t
(b) 23.2ft by 34.8ft

(c) 11.6ft by 46.4ft
(d) 29ft by 29ft

®) Find the value of x if log,(z) = —2.

(a) x =16 (d) 2 =14

(b) z=2 (e) No solution
1

(€)== 15

®) Find the range of f(z) = 2 — 22

(a) f(z) € (2,00) (c) f(z) € (—00,2]
(b) f(z) € (—00,2)

®) Let f(x) = 3z and g(z) = = + 1. Find the
composition function (f o g)(z)

(©) (fog)(a) =3a+1

(a) (fog)(a)=x+3
(d) (fog)(x) =9z

(b) (fog)(z)=3z+3

®) Find the range of f(z) = 4%3 Hint: Find the
domain of f~(x)

(a) (—00,3)U(3,00)
(b) (0,00)

(C) (_007 0) U (07 OO)

(d) (=00,4) U (4,00)
(€) (—00,00)

Tx+9
® Solve the equation log <2;_:_29> =0

(a)
(b)

(c) z=7

—4
5 (d) z=1

x
X
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63. ® Solve the inequality 7+ z > 3z — 9 > 5z + 15

(c) [-12,8)

(a) (—12,8]
(d) (—o0, ~12)

(b) [8,00)

64. ®) Find the inverse function of f(z) = 3z2° — 5

(@) 77 (@) = {2
) f )= {2
(© f @)= {5
(@ @) = (T

65. ® Find all the real solutions for the equation

vVer—9=3

(a)
(b)

(c) =18

=0
(d) No solution

T
r=—18

66. ®) Simplify 30

67. ® R is inversely proportional to the square of I.
If I = 12 when R = 60. Find the constant of

proportionality.
(a) k=12 (c) k= 8640
(b) k=T720 (d) k=60

68. ®) Find the graph of the function g(z) = (z —1)3.

69.

70.

71.

72.

1
-(:
I

v

I

I

i

i

I

i

¥

v

I

4

_______*n_____}______
bt

"

b

o
1
-
i
:
'
T
1
'

® Find the vertical and horizontal assymptotes of
z+9
flz) =

x+5
(a) Horizontal y =9 and Vertical x = 5.
(b) Horizontal y = 1 and Vertical z = —14.

(d) Horizontal y = —5 and Vertical z = —9.

)
)

(¢) Horizontal y = 1 and Vertical z = —5.
)

®s

olve the inequality —2z — 15 > —5

(a) (—00,-5)
(b) (=o0,5]

(¢) [5,00)
(d) (=00,5)

®) If ¢ and h are real numbers and f(z) = 22 —
z+2, find f(a)+ f(h).

(a) fa)+ f(h)=a?>+h?>+a+h

(b) fla)+ f(h)=a*>+h*—a—h—4

(c) f(a)+ f(h) =a®+h*—a—h

(d) f(a)+ f(h)=a*>+h*+a+h+4

a

a

®) Find the inverse function of f(z) = 9z + 8

_ r—8 _ 9
@ 1@ =5 | © @)=
0) @ =" | @ e =
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73. ® Simplify (8 + 6i)? in the form a + bi.

(c) —28 — 6i

(a) 28 + 96i
(d) —8 + 96i

(b) 28 — 8i

74. ® Let f(z) = 22 — 1 and g(z) = 3z — 2. Find
(f +9)(7)

(a) (f +9)(7) =66
6

______________

R P e

]
[ -
v
- [
a
]
e
L%
B4

I
I
i
I
I
[l
i
!
]
-t -———
[
I
0
0
I
¥
I
[
0
v
I
v
s

B et o e e B e

it S
e

et ekttt

™~J
L% ]
i
e

...............

76. ®)| Solve the inequality 2z — 13 > —1

(a) (6,00)
(b) (—o00,6)

(¢) (=o0,6]
(d) [6,00)

77. ®| Find the line that passes through the points
P(5,5) and Q(—3,—3).

(a) y =5z (c) y=5
(b) y=x (d) «

2l 4 4 & & X

79. ® Tell whether the graphs of y = 6z + 1 and
2y = 4x — 8 are parallel, perpendicular, or neither.

(c) Neither  parallel
nor perpendicular

(a) Perpendicular
(b) Parallel
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(a) r=1land z =2

80. ®) Find the graph of the function g(z) = 22 + 1 (b) z=1
________________________ (¢c) x=-2andx=1
N S :
| ; i | (d) z=—-2and x = —1
o M e ] L
; ] i 84. (®) Solve the equation s 1 =
| [ £+30 5 x+30
ON B W C | (@) o =2 (© 2 =0
A A W N S (b) z=-3 d) z=5
51-5 _3:'5 255 in 85. ® Solve the equation z2—2z—8 = 0 by completing
the square.
(a) r=—-2and x =1
(b) x=—-2and x =4
(¢) x=3and x =4
(b) (d) z=1and z =
86. ® Find the equatio of the circle with center at
(1,2) and passing through the origin
(a) 22 +y? +22x+4y—-5=0
(b) 22 +y? -2z — 4y =
i : (c) 22 +y? —22—4y—5=0
A W (d) 22 +y* + 2z +4y =0
;rs “2§- 87. ® Find the graph of f(z) = |z — 8 + 4
()
— oo
. X
@ L
81. ® Find the midpoint of the line segment obtained T , ! e
by joining the points P(8,5) and Q(6,5) L § ]
e e &
(a) M(7,5) (c) M(9,5) : : : :
(b) M(7,4) (d) M(12,8)
82. (® Simplify the expression (5—+/—49)+(4—/—25) :L
in the form a + bs. :L
(a) =9 —2i (c) —9+2i (b) T
(b) 9+ 2 (d) 9— 2 ;
83. ® Solve the equation |2z + 1| = 3 :>(
]
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88. ®If f(z) = 22 and g(x) = 2. Find the composite
function (f o f)(x)

89. ® Let y be directly proportional to z. If z = 8
when y = 72; Find the constant of proportionality.

(a) z
(b) x

2
8 8
I

6
4

.......

(b)
------ -
______
(c) o\ :
------ S s C
s X

94. ® Find the line that passes through the point
P(0,0) and is perpendicular to the line y = —10x+
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95. ®) Find the slope of the line y = 2z + 6

(a) m= -2 (d) m=6
(b) m=-1
c) m=3 () m=2

96. ®)| Let f(x) = 2 — 4. After simplifying the quo-

tient W (for  # a) one obtains
(a) f@) = f(a) = 2% 4 2az + o
(b) f(;; - ;(a) — 2 + az + d?
@ f(fCE:Zc(a) _ 22

97. ® Let z, y, and d be positive numbers. Use the
properties of logarithms to write the expression
log, (1 /:Uy) in terms of logarithms of z and y.

(a) logy() + logy(y)

(b) 3 logy() + 3 logy(y)

(¢) 2log, () + 2logy(y)
)

2
1
(d) 5

logy(z) + log,(y)
98. ®)| Let f(x) = 11z — 89. Find f(10)

(a) f(10) =21 (c) f(10) = 34
(b) £(10) =92

99. ® Let f(z) = 10z—3. Find the difference quotient
fx+h) - fz)

Y for h # 0.
(a) 10z + 3 (c) 10
(b) =3

100. ® Find the solution of the inequality |9z —2| < 11

(

(=00, = %) U (~1,00)
(-1

(

101. ® Find where the function f(z) = 16 — 22 is in-
creasing.

(a) (0,00)
(b) It is always constant
(c) It is always decreasing

(d) (=00,0)

102. ® Find the domain of f(z) = v/6x + 18

(a) (=00,6)

103. ® Assume that , y and c are positive numbers.
Use the properties of logarithms to write the ex-
pression log,.(x°y”) in terms of the logarithms of
and y.

(a) 45log.(z) +9log.(y)

(b) 5log.(x) + 45log.(y)

(c) 5log.(x) + 9log.(y)

(d) 5log.(x) + 5log.(y)
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104. ® Find the graph of the equation 22 +32—100 = 0

105. ® Solve for = the equation f = k- .
q
(a) o= f—kq (c) = fqg—Fk
(b) z =k — fq (d) z=kq—f

106. ® Solve the equation z(z — 5) — 23 = (z — 1)?

(a) x=-3 (c) == -8
(b) z=-17 (d) z=-1
1 1
107. ® Solve the equation . 370 9T 2570
(a) = -3 (c) x=—6
(b) z=-1 (d) z=2

108. ® Find the inverse function of f(z) = 3z + 7
_ x4+ 7 _ x—7
@ M@ =0 | © e =
3 z—3
b -1 = -1 =
(b) [T (@) = — (d) f(2) -
109. ® The ratio of women to men in a mathematics
class is 5 to 8. How many women are in the class
if there are 48 men?
(a) 48 (c) 8
(b) 30 (d) 5
110. ® Let z, y, and z be positive numbers. Use the
properties of the logarithms to write the expres-
sion 1
—2logy(z) — 6logy(y) + = log,(z) as the logarithm
of one expression.
: :
z z
(a) log (W) (c) log, (W)
8 3
z z
(b) log; (W) (d) log (W)
111. ® Find the graph of the equation x = 6
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(C) —B f 4 g8 X
st
_________ Ty

(a) =9 (c) z=5
(b) =6 (d) z=4
113. ® Find the graph of the function f(z) = \/z — 4
e —
N SN} SRS, (RUU SRS : S |
(a) -
2
e —
i - . N (U LN S
e
) B e S S
S S

114. ® Find the domain of the function f(z) = 7
Tz —

(a) (—o0,4) U (4,00)
(b) (=00, 1)U (1, 00)

(¢) (—o0,5) U (5,00)
(d) (—o0,6) U (6,00)

115. ® Let f(x) = 22 + 1 and g(z) = 3z — 2. Find
(f —9)(=)

() (f ~9)(a) = ot

(b) (f —9)(z) = bz -1
¢) (f —g)(x) = 62" —z 2

d) (f—9)(x)=3—-=

—

116. ® The ratio of lime to sand in a mortar is 7 to
4. How much lime must be mixed with 32 bags of
sand to make mortar?

(a) 7 bags
(b) 4 bags

(c) 56 bags
(d) 32 bags
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